

Erie County Land Bank - Pricing Revised 1.5.23

Prepared by:

Prepared for:

Amy Monacella P 814-835-8217 amy@ajgrack.com Christie Mahany

P 814-451-7339 christie@eriecountylandbank.org 1/5/2023

Quote Name:

EC-1122-Erie Cnty Land Bank Office Rev 1.5.sp4

Line #	-	Part Number	Part Description	Qty	Sell	Ext Sell
1	KNO	AWM1S48	Stiffener for Worksurface 32W, for 48"or 54"application	2	\$44.87	\$89.74
2	KNO	AWM1S60	Stiffener for Worksurface 44W, for 60" application	3	\$45.68	\$137.04
3	KNO	C2C2730C	Calibre Cabinet, 1 adjustable shelf, with doors, 30Wx27H, with lock	2	\$800.01	\$1,600.02
4	KNO	P (CORE S) 118 (KEYALIKE) (LOCK) C2F2742CCC	OPT: Match Shelves to Case Smooth Core Paints PAINT: Bright White LOCK: Keyed Alike Specify lock core & key separately Calibre Lateral File, 2-12" drawers with rails, 42Wx27H, with lock	1	\$823.11	\$823.11
		(CORE S) 118 (KEYALIKE) (LOCK)	Smooth Core Paints PAINT: Bright White LOCK: Keyed Alike Specify lock core & key separately			



Prepared by:

Quote Name:

Prepared for:

EC-1122-Erie Cnty Land Bank Office Rev 1.5.sp4

Christie Mahany

Amy Monacella P 814-835-8217 amy@ajgrack.com

P 814-451-7339

christie@eriecountylandbank.org

1/5/2023

Erie County Land Bank - Pricing Revised 1.5.23

Line #	Mfg	Part Number	Part Description	Qty	Sell	Ext Sell
5	KNO	D1D6630N	Worksurface, "D" Peninsula, 66Wx30D	1	\$463.37	\$463.37
		(CORE) 139 (CORE) 139	Core Laminates LAM: Light Ash Core Edgebands EDGE: Light Ash			
6	KNO	D1R10824N	Worksurface, Rectangular, 108Wx24D, no grommet	1	\$419.72	\$419.72
		(CORE) 139 (CORE) 139	Core Laminates LAM: Light Ash Core Edgebands EDGE: Light Ash			
7	KNO	D1R4219N	Worksurface, Rectangular, 42Wx19D, no grommet	1	\$160.30	\$160.30
		(CORE)	Core Laminates			

139

139

(CORE)

LAM: Light Ash Core Edgebands

EDGE: Light Ash



Prepared by:

Quote Name:

Prepared for:

Christie Mahany

P 814-835-8217 amy@ajgrack.com

Amy Monacella

P 814-451-7339

christie@eriecountylandbank.org

1/5/2023

EC-1122-Erie Cnty Land Bank Office Rev 1.5.sp4

Erie County Land Bank - Pricing Revised 1.5.23

Line #	Mfg	Part Number	Part Description	Qty	Sell	Ext Sell
8	KNO	D1R6024N	Worksurface, Rectangular, 60Wx24D, no grommet	1	\$232.91	\$232.91
		(CORE) 139 (CORE) 139	Core Laminates LAM: Light Ash Core Edgebands EDGE: Light Ash			
9	KNO	D1R6624N	Worksurface, Rectangular, 66Wx24D, no grommet	1	\$251.26	\$251.26
		(CORE) 139 (CORE) 139	Core Laminates LAM: Light Ash Core Edgebands EDGE: Light Ash			
10	KNO	D1R7224N	Worksurface, Rectangular, 72Wx24D, no grommet	1	\$263.91	\$263.91
		(CORE) 139 (CORE) 139	Core Laminates LAM: Light Ash Core Edgebands EDGE: Light Ash			



Prepared by:

Quote Name:

Prepared for:

EC-1122-Erie Cnty Land Bank Office Rev 1.5.sp4

Christie Mahany

Amy Monacella P 814-835-8217 amy@ajgrack.com

P 814-451-7339

christie@eriecountylandbank.org

1/5/2023

Erie County Land Bank - Pricing Revised 1.5.23

Line #	Mfg	Part Number	Part Description	Qty	Sell	Ext Sell
11	KNO	D1R9019N	Worksurface, Rectangular, 90Wx19D, no grommet	1	\$296.95	\$296.95
		(CORE)	Core Laminates			
		139	LAM: Light Ash			
		(CORE)	Core Edgebands			
		139	EDGE: Light Ash			
12	KNO	DB1F18SP	Flat Bracket 18"- Single Pack	1	\$15.50	\$15.50
13	KNO	DB1F24SP	Flat Bracket 24"- Single Pack	3	\$17.95	\$53.85
14	KNO	DB1F30SP	Flat Bracket 30" - Single Pack	1	\$19.99	\$19.99



Prepared by:

Prepared for:

Amy Monacella P 814-835-8217 amy@ajgrack.com Christie Mahany

P 814-451-7339

Quote Name:

christie@eriecountylandbank.org

1/5/2023

EC-1122-Erie Cnty Land Bank Office Rev 1.5.sp4

Line #	Mfg	Part Number	Part Description	Qty	Sell	Ext Sell	
15	KNO	<u> </u>	·	1	\$163.57	\$163.57	
		(CORE) 118T	Core Paints PAINT: Bright White (Textured)				
16	KNO	DD1EU18	End Unit Support, 14-7/8Wx18D	1	\$223.93	\$223.93	
		(CORE S) 118	Smooth Core Paints PAINT: Bright White				
17	KNO	DD1EU24	End Unit Support, 14-7/8Wx24D	5	\$248.00	\$1,240.00	
		(CORE S) 118	Smooth Core Paints PAINT: Bright White				
18	KNO	DS2PM72L	Overhead Cabinet, Series 2 steel or veneer front, 71-7/8W, Panel Mounted, with lock	2	\$597.57	\$1,195.14	
		(CORE) 118T	Core Paints CASE: Bright White (textured)				
		1181 ~	CASE: Bright White (textured) same paint on case and front				
		(KEYALIKE)	LOCK: Keyed Alike				



Prepared by:

Quote Name:

Prepared for:

Christie Mahany

Amy Monacella P 814-835-8217 amy@ajgrack.com

P 814-451-7339

christie@eriecountylandbank.org

1/5/2023

EC-1122-Erie Cnty Land Bank Office Rev 1.5.sp4

Erie County Land Bank - Pricing Revised 1.5.23

Line #	Mfg	Part Number	Part Description	Qty	Sell	Ext Sell
		(LOCK2)	Specify 2 lock cores & keys separately			
19	KNO	DS4PFL24AB	Dividends Series 2 Floorstanding Pedestal, 15Wx24D, Box/Box/File, with Back, Recessed Pull, with lock	2	\$416.46	\$832.92
		~	Standard box drawer sides			
		(CORE)	Core Paints			
		118	PAINT: Bright White (smooth)			
		(KEYALIKE)	LOCK: Keyed Alike			
		(LOCK)	Specify lock core & key separately			
20	KNO	F-36-20	Universal Fabric Board, 36Wx20H	4	\$329.00	\$1,316.00
		S1 A 10 (W432)	OPT: Squared Corner/Rectilinear Edge OPT: 1/2" Mineral Board OPT: Fabric Group (F10) FABRIC: Versatility			
		W4329 FWMF3620	COL: Sky OPT: Flush Wall-Mounted			
		1 WWW 3020	OF 1. Hash wan-wounted	CHE	BTOTAL:	\$9,799.23
				301		not included.
21	KNO	SAPMADCLMPK	Sapper Double Arm Kit, table clamp mount, 16" mast, movement joints, adjustment knob, cable management clips	1	\$378.00	\$378.00
		118	PAINT: Bright White			
		В	KNOB: Black			



Prepared by:

Quote Name:

Amy Monacella

P 814-835-8217

amy@ajgrack.com

Prepared for:

Christie Mahany

P 814-451-7339

christie@eriecountylandbank.org

1/5/2023

Erie County Land Bank - Pricing Revised 1.5.23

EC-1122-Erie Cnty Land Bank Office Rev 1.5.sp4

Line #	Mfg	Part Number	Part Description	Qty	Sell	Ext Sell
				SUE	BTOTAL:	\$378.00
					Sales tax n	ot included.
22	SIT	2221FT1TXB.USAR0	Wit, Side, 4-leg, Thintex, Upholstered Seat, Armless	1	\$302.11	\$302.11
		FC1	Black Frame			
		CS6	Hard Floor and Carpet Casters			
		TX1	Fabric Back			
		MC31	Apple			
		FABRIC	Fabric Grade Selections			
		~	No Selection			
		FG2	Fabric Grade 2			
		PIXEL	Pixel Color Selections			
		NAVY	Pixel Navy			
		~	Std Packaging			
23	SIT	2223.B9.F.A128	Wit Task, Thintex, Highback, Standard Synchro, Height Adj Arms	2	\$444.74	\$889.48
		E3	Seat Depth Adjustment Upgrade			
		FC1	Black			
		<i>Z</i> 1	Black			
		~	Black Arm			
		ВО	Standard Black Base			
		SO SO	Standard Cylinder			
		C16	Standard Carpet Casters			
		TX1	Fabric Back			
		MC31	Apple			
		FABRIC	Fabric Grade Selections			

FG2

No Selection Fabric Grade 2



Prepared by:

Quote Name:

Prepared for:

Christie Mahany

Amy Monacella P 814-835-8217 amy@ajgrack.com

P 814-451-7339

christie@eriecountylandbank.org

EC-1122-Erie Cnty Land Bank Office Rev 1.5.sp4

Erie County Land Bank - Pricing Revised 1.5.23

Line #	Mfg	Part Number	Part Description	Qty	Sell	Ext Sell
		LINK	Link Color Selections			
		BLACK	Link Black			
		KD	Knocked Down			
				SUI	BTOTAL: Sales tax	\$1,191.59 not included.
24	EGV	DGF7248	Glass Markerboards, GlassWrite/GlassWrite Shapes, Frosted, Stanchion Mount, 72"w x 48"h	1	\$1,361.84	\$1,361.84
			*NOT MAGNETIC, FROSTED GLASS			
		SH	Call Customer Service for Price			
		/ ~	EganINK. Send artwork to Customer Service for a quote FOR MAGENTIC OPTION; WHITE - ADD \$500			
25	EGV	FREIGHT	FREIGHT- EGAN	1	\$261.84	\$261.84

SUBTOTAL: \$1,623.68

Sales tax not included.

1/5/2023

GRAND TOTAL: \$12,992.50

Sales tax not included.